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Unit-V
Determine x1 and x, so as to :

Maximize:

z = 12\ + Zlx, + 24x2 * 24 - 24

by using Kuhn-Tucker condition, subject to :
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Solve the following
problem using separable

Maximize:
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I2I
Solve the following LPP
programming:
Maximize:

z=3q+4x,2
subject to :
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by using dynamic
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x1 ,.r2 2 0.

Unit-tl
2. (a) Calculate the value of game and probability of

playing each strategy in the following game theory
matrix r 

O

3. (a) Solve the following integer programming

. using branch and botmd method :

Min. :

z=3xt+2.5x2

subject to :

x1+2x2>?A

3x1+2x2)50

and x1,x2 > 0 and integer.

(b) Write the limitations of integer programming.

(c) Solve the mixed integer prograrnming problem :

lnrnlmlze:

(c)

2x1+x2s40'
2.r1 +. 5.q < 180

(b) Solve the

Player A

(c) Solve the following J x
programming method :

B1

4 game by graphical method:

Player B

1234

subject to :

2x1+3x2+54>2

linear

3x1+ x2+74 33

x1+4x2+6x3 <5

by

Player B

82 83

and 11,x21J3 2 0.

Unit-IV

(c) Write a short note on
decornposable economics.

(a) Write a short note on economic interpretation of
dual linear programrning.

(b) Explain about input-output analysis.
Player A indecomposable and
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